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O 2.403 > 3.216 @ 13.154 > 13.298
® 5.643 < 5.634 @ 5.21 >5.204
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0.319, 3.019, 0.391, 9.103

@® 9.103, 0.391, 3.019, 0.319
@ 9.103, 0.391, 0.319, 3.019
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® 0.319, 0.391, 3.019, 9.103



[ ool ggre S5 AEd2 7o ghe 12AQ.

382-]  |-384-[ ]-386

@® 3.93,3.95 @ 3.83,3.85 ® 0.83,0.85

@ 3.85,3.87 ® 3.83,3.87



8. Ao|gE AFE02L, Mol 04LE kIS [ o7t
[ L8 opea) Aeda 240,

D R
=%
5 J=X

=%



Uhee 242 v et 23 Al2A e,

85 4
W35 () 10955
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@ 10097 54 2707F 1.86 g T FH5HT
@ 509%d 54 3707F 1.86 g H FAHFUH
® 100978 54 2707} 1.96 ¢ ©f FHFYT
@ 5097 T4 3717 1.96¢ H FHSUH

® 100 972 FA 2717} 197 B FHFUL



